
LED-VW1750BLACK
 

WWW.NEOMOUNTS.COM

INSTRUCTION MANUAL

IT

EN 

NL 

DE 

FR 

 

ES 

PT 

DK 

Video wall mount

Video wandsteun

Videowand-Halterung

Support mural pour mur d'images

Supporto parete video wall

Soporte de video wall

Suporte de video wall

Video vægbeslag

NO 

SE 

FI 

PL 

CS 

SK 

RO 

Videovegg feste

Videoväggfäste

Videoseinäteline

Uchwyt do sciany video

Držák na videostěny

Držiak na videosteny

Suport pentru video wall

m
in

20
0m

m
-m

ax
40

0m
m

1009mm

12
m

m

min49mm-max223mm

540m
m

min200mm-max600mm

5mm



PARTS

LED-VW1750BLACK

A. (x1) B. (x2) C. (x2) D. (x2)

W-B. (x4) W-C. D6
(x4)

E. M5x25
(x2)

F. (x1)

M-B. M6x14
(x4)

M-C. M6x30
(x4)

M-D. M8x30
(x4)

M-E. M8x50
(x4)

M-F. (x4) M-G. (x8) M-H. (x8) W-A. ST6.3x55
(x4)

Tool Drill

For portrait mounting: reassemble the wall plate
Voor verticale montage van het scherm: hermonteer de 
muurplaat
Zur Montage im Hochformat: Wandplatte wieder 
zusammenbauen
Pour montage en portrait: remontez la plaque murale
Per il montaggio verticale: rimontare la piastra a muro
Para montaje vertical: vuelva a montar la placa de pared
Para montagem na vertical: remonte a placa de parede
W przypadku montażu pionowego: ponownie zamontuj 
płytkę ścienną

EN
NL

DE

FR
IT
ES
PT
PL

0-35 kg |
0-77,2 lbs

200x200 -
600x400 mm

4,9-22,3 cm

M-A. M5x14
(x4)

OPTION

G. 6mm
(x1)



Loosen the screws and remove the horizontal bars
Draai de schroeven los en verwijder de horizontale 
liggers
Lösen Sie die Schrauben und entfernen Sie die 
Querstangen
Desserrez les vis et enlever les barres horizontales
Allentare le viti e rimuovere le barre orizzontali
Afloje los tornillos y retire las barras horizontales
Solte os parafusos e remova as barras horizontais
Poluzuj śruby i usuń poziome paski

EN
NL

DE

FR
IT
ES
PT
PL

Install the horizontal bars and secure them
Installeer de horizontale liggers en zet vast
Installieren Sie die horizontalen Stangen und 
sichern Sie diese
Installez les barres horizontales et fixez-les
Installare le barre orizzontali e fissarle
Instale las barras horizontales y asegúrelas
Instale as barras horizontais e prenda-as
Zainstaluj poziome paski i zabezpiecz je

EN
NL
DE

FR
IT
ES
PT
PL

* Not Included

* Not Included

STEP 1 A

STEP 1 B

A

D

C



Mark where you want to place the bracket(s) - spacing 
shown in technical drawing
Markeer waar u de muurbeugel(s) wilt plaatsen - 
tussenruimte zoals afgebeeld 
Markieren Sie, wo Sie die Halterung(en) platzieren 
möchten - der Abstand ist in der technischen Zeichnung 
angegeben
Marquez l'endroit où vous souhaitez placer le ou les 
supports - espacement indiqué dans le dessin technique
Segna dove vuoi posizionare la/ e parentesi - la 
spaziatura mostrata nel disegno tecnico
Marque dónde desea colocar el (los) soporte (s) - 
espaciado mostrado en el dibujo técnico
Marque onde você deseja colocar o (s) suporte (s) - 
espaçamento mostrado no desenho técnico
Zaznacz miejsce, w którym chcesz umieścić wspornik 
(i) - odstępy pokazane na rysunku technicznym

EN

NL

DE

FR

IT

ES

PT

PL

Install the wall plate on a solid brick or concrete wall
Bevestig de muurbeugel aan een stevige stenen of 
betonnen muur
Befestigen die Halterungsplatte an einer Wand
Installez la plaque murale sur un mur en brique ou en 
béton
Installare la piastra da parete su un muro di mattoni o 
cemento
Fije el soporte de pared a una piedra sólida o muro de 
hormigón
Instale a placa do suporte de parede numa parede
Zamontuj płytę ścienną do ściany z cegły lub betonu

EN
NL

DE
FR

IT

ES

PT
PL

* Not Included

STEP 2

STEP 3

X=length of display 
Y=height of display

3 4

1 2

X

Y+2m
m

W-A

W-C

W-B



Unlock the pop-out module
Ontgrendel de pop-out module
Entriegeln Sie das Pop-Out-Modul 
Déverrouillez le module Pop-Out 
Sbloccare dell'unità pop-out
Desbloquea el módulo pop-out
Desbloqueie o módulo pop-out
Odblokuj moduł pop-out

EN
NL
DE
FR
IT
ES
PT
PL

Adjust the adapter brackets for landscape or portrait 
mounting
Pas de adapter steunen aan voor horizontale- of 
verticale montage
Anpassen der Adapterhalterungen für die Quer- oder 
Hochformatmontage
Réglage des adaptateurs pour un montage en mode 
paysage ou en mode portrait
Regolazione delle staffe dell'adattatore per il montaggio 
orizzontale o verticale
Ajuste los soportes adaptadores para montaje horizontal 
o vertical
Ajuste os suportes do adaptador para montagem na 
horizontal ou vertical
Regulacja adaptera długości ramion uchwytu do 
montażu poziomego lub pionowego

EN

NL

DE

FR

IT

ES

PT

PL

STEP 4

STEP 5

40
0m

m
60

0m
m

For landscape mounting

For portrait mounting

B



Attach the adapter brackets onto a TV with a flat back 
side
Bevestig de adapter steunen aan een televisie met 
vlakke achterzijde
Befestigen die Halterungsschienen an einem Fernseher 
mit einer flachen Rückseite
Fixation des supports de l'adaptateur sur un écran à dos 
plat
Fissare le staffe dell'adattatore su un televisore con una 
parte posteriore piana
Conecte los soportes del adaptador a un televisor con un 
lado posterior plano
Conecte os suportes do adaptador a uma TV com um 
lado traseiro liso
Zamocuj ramiona uchwytu do płaskiej tylnej strony 
monitora

EN

NL

DE

FR

IT

ES

PT

PL

Attach the adapter brackets onto a TV with a recessed 
back side
Bevestig de adapter steunen aan een televisie met 
verzonken achterzijde
Befestigen die Halterungsschienen an einem Fernseher 
mit einer vertieften Rückseite
Fixation des supports de l'adaptateur sur un écran à dos 
encastré
Fissare le staffe dell'adattatore su un televisore con un 
lato posteriore incassato
Conecte los soportes del adaptador a un televisor con el 
lado trasero incrustado
Conecte os suportes do adaptador a uma TV com o lado 
traseiro embutido
Przymocuj ramiona uchwytu do monitora posiadającego 
zagłębionie na tylnej stronie

EN

NL

DE

FR

IT

ES

PT

PL

* Not Included

* Not Included

STEP 6 A

STEP 6 B

M-A M-B

M-F M-F

M-G

M-G M-G

M-H

M-H

M-H M-H

M-G
M-H

M-F

M-F M-F M-F

M-F M-F

M-C

M-D

M-E M-E M-E

M-C

M-D

M-C

M-D



Attach the screen onto the bracket and secure it
Bevestig het scherm aan de muursteun en zet vast
Montage und Sicherung des Bildschirm an die Halterung
Accrochez l'écran sur le support et fixez-le
Appendere lo schermo sulla staffa e fissarlo
Cuelgue la pantalla en el soporte y asegúrela
Pendure a tela no suporte e prenda-a
Zawieś ekran na wsporniku i zabezpiecz go

EN
NL
DE
FR
IT
ES
PT
PL

Push the screen back into position
Duw het scherm terug in positie
Schieben Sie den Bildschirm zurück in Position
Repousser l'écran en position
Riportare lo schermo in posizione
Empuje la pantalla de nuevo en su posición
Empurre a tela de volta para a posição
Wsuń ekran z powrotem na miejsce

EN
NL
DE
FR
IT
ES
PT
PL

STEP 7

STEP 8

E



Install the screens in the correct order (1,2,3,4,...)
Installeer de schermen in de juiste volgorde (1,2,3,4,...)
Installieren Sie die Bildschirme in der richtigen 
Reihenfolge (1,2,3,4,...)
Installez les écrans dans le bon ordre (1,2,3,4,...)
Installare gli schermi nell'ordine corretto (1,2,3,4,…)
Instale las pantallas en el orden correcto (1,2,3,4,...)
Instale as telas na ordem correta (1,2,3,4,...)
Zamontuj ekrany we właściwej kolejności (1,2,3,4,...)

EN
NL
DE

FR
IT
ES
PT
PL

To remove the screen(s), push the lever
Om de schermen te verwijderen, druk op de hendel
Zur Entfernung des Bildschirms (der Bildschirme), den 
Hebel drücken
Pour retirer le ou les écrans, appuyez sur le levier
Per rimuovere lo/ gli schermo/ i, premere la leva
Para quitar la (s) pantalla (s), empuje la palanca
Para remover a (s) televisão (s), empurre a alavanca
Aby usunąć ekran (y), naciśnij dźwignię

EN
NL
DE

FR
IT
ES
PT
PL

STEP 9

STEP 10

START
1

7 8 9

4 5 6

1
2 3

7 8 9

4
5 6

1 2 3

START
2



Adjust the mount to your desired position: 
a. Screws for micro height adjustment 
b. Knobs for micro depth adjustment
Stel de steun in op de gewenste positie 
a. Schroeven voor micro-hoogteverstelling 
b. Knoppen voor micro-diepteverstelling
Positionieren die Halterung in die gewünschte Position: 
a. Schrauben zur Höhenverstellung 
b. Knöpfe für die Mikrotiefeneinstellung
Ajustez le support à la position souhaitée: 
a. Vis de micro-réglage de la hauteur 
b. Boutons de micro-réglage de la profondeur
Regolare il supporto nella posizione desiderata: 
a. Viti per microregolazione dell'altezza 
b. Manopole per microregolazione
Ajuste el soporte a la posición deseada: 
a. Tornillos para micro ajuste de altura 
b. Perillas para ajuste de profundidad micro
Ajuste o suporte na posição desejada: 
a. Parafusos para micro ajuste de altura 
b. Puxadores para micro ajuste de profundidade
Dostosuj pozycję uchwytu do twoich wymagań: 
a. Śruby do mikroregulacji wysokości 
b. Pokrętła do mikroregulacji głębokości

EN

NL

DE

FR

IT

ES

PT

PL

STEP 11

G

a. Height adjustment

1

3

4



Adjust the mount to your desired position: 
a. Screws for micro height adjustment 
b. Knobs for micro depth adjustment
Stel de steun in op de gewenste positie 
a. Schroeven voor micro-hoogteverstelling 
b. Knoppen voor micro-diepteverstelling
Positionieren die Halterung in die gewünschte Position: 
a. Schrauben zur Höhenverstellung 
b. Knöpfe für die Mikrotiefeneinstellung
Ajustez le support à la position souhaitée: 
a. Vis de micro-réglage de la hauteur 
b. Boutons de micro-réglage de la profondeur
Regolare il supporto nella posizione desiderata: 
a. Viti per microregolazione dell'altezza 
b. Manopole per microregolazione
Ajuste el soporte a la posición deseada: 
a. Tornillos para micro ajuste de altura 
b. Perillas para ajuste de profundidad micro
Ajuste o suporte na posição desejada: 
a. Parafusos para micro ajuste de altura 
b. Puxadores para micro ajuste de profundidade
Dostosuj pozycję uchwytu do twoich wymagań: 
a. Śruby do mikroregulacji wysokości 
b. Pokrętła do mikroregulacji głębokości

EN

NL

DE

FR

IT

ES

PT

PL

OPTION
b. Depth adjustment

1

3

4



Align the screen if necessary and install the screens in 
the correct order (1,2,3,4). Align with a spirit level and 
keep 1,2 mm of space on all sides (F) 
Hang het scherm recht indien nodig en installeer de 
schermen in de juiste volgorde (1,2,3,4). Lijn uit met een 
waterpas en behoud 1,2 mm ruimte langs alle zijden (F) 
Richten Sie den Bildschirm aus falls nötig und installieren 
Sie die Bildschirme in der richtigen Reihenfolge (1,2,3,4). 
Richten Sie sie mit einer Wasserwaage aus und lassen 
Sie auf allen Seiten einen Abstand von 1,2 mm (F) 
Alignez I'écran si nécessaire et installez les écrans dans 
le bon ordre (1,2,3,4). Alignez-les avec un niveau à bulle 
et gardez un espace de 1,2 mm de chaque côté (F) 
Allineamento dello schermo se necessario et installare 
gli schermi nell'ordine corretto (1,2,3,4). Allineare con 
una livella a bolla e mantenere 1,2 mm di spazio su tutti i 
lati (F)
Alinear pantalla si es necesario y instale las pantallas en 
el orden correcto (1,2,3,4). Alinee con un nivel de burbuja 
y mantenga 1,2 mm de espacio en todos los lados (F) 
Alinhar tela, se necessário e instale as telas na ordem 
correta (1,2,3,4). Alinhe com um nível de bolha e 
mantenha 1,2 mm de espaço em todos os lados (F) 
Wyrównaj monitor jeśli jest taka potrzeba y zamontuj 
ekrany we właściwej kolejności (1,2,3,4). Wyrównaj za 
pomoca wbudowanej poziomicy i zachowaj 1,2 mm 
przestrzeni ze wszystkich stron (F) 

EN

NL

DE

FR

IT

ES

PT

PL

STEP 12

D1=D2

wall
D2D1

Note: Use the plastic locking piece
to measure and keep 1.2 mm spacee
between displays.

1.2mm

1.2m
m

F




